- wpo not write anything on question-paper except Roll

Number, otherwise it shall be deemed as an act of indulging
in unfair means and action shall be taken as per rules. "
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B.COM. (HONS) (FINAL) BUSINESS
FINANCE & ECONOMICS
EXAMINATION - 2020

CORE PAPER - III
BUSINESS STATISTICS
Time - Three Hours
Maximum Marks - 100
PART - A/49 T — A

- Note:- (1) The question of Part-A are compulsory. The

answers of these question are limited uplo 30
word each. Each question carries 2 marks.
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PART - B/41 1 — 9

Note:- (2) Attempt FIVE questions in all, selecting ONE
question from each (a) or (b) from each unit. The
answer of each question shall be limited upto 250
words. Each question carries 7 marks.
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What is business forecasting?
araaTRe Q@A 787
(i) Whatis reproduction rates?

Wﬁﬁﬂmﬁ?

0] Explain vital statistics.
i G Y TR |
PART-B/91°7T — 4
UNIT-V 3318 — 1
xplain the functions of statistics.
FiER D BIal Bl AN |
OR /3@l
The following task shows the percentage increases in

price of various groups for 2019 over 2018 an{.i fhe
weights, Calculate the cost of living

(h)

1.

(B)

corresponding ‘
index number for 2019.

ﬁﬁaa@aﬁzmaaﬁwﬁmwaﬁ_mﬁﬁ
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g frafz Adais TR BT |

(Groups) € -
(% Increase) Wl 4f& : 125 75 55 150 50

(Weight) R : 52 8 10 14 16
UNIT- I/ g8 — 1

Z)MExplam the difference between classification and
Tabulation.
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OR / d¥IaQt I

(B) Assume N =100 and there are Nine class intervals 5 f;

equal size. The first class interval is 10 and unde; 20;
The cumulative frequency of the Sth, 6th, 7th ang ™

class intervals are 45, 70, 90 and 99 respectively, Fing

" Median.
q @ N=100 T2AT IHH 3R a1l 8 T 8 ) Uz o
“10 3R 20 A HH 8" | 59, 69, 79, T4 8 T T &Y e
SR BT 45, 70, 90 TAT 99 B TeABT ST BT |
UNIT - I/ 18 — TII
prlain the merits and demerits of Standard Deviation,

AT fager & 7T <11 1 goi BTy | |

OR / dt2qar

(B) The coefficient of rank correlation of the marks obtained
by 10 students in mathematics and statistics was found
to be 0.91. It was later discovered that the difference in
rank in the two subjects obtained by me of the students
was wrongly taken as 0 instead of 3. Find the correct
coefficient of rank correlation. -
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UNIT- IV/3a&1E — v
4.(A) Explain the importance of business forecasting.

TS YT 2 e 37 avfr a8y
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OR /3yt

}B«ﬁnterpulate the missing figures in the following series.

5.

Pyl AT @ I A1 P IR BT |
Year Value
l 7
2 ?
3 13
4 21
5 37

UNIT-V/3a1E — V
Explain the utility of vital statistics.
g GHE! B ST B RS0 |
© OR/J™dr

(B) Ifthetwo regression co-efficients are -0.9 and -0.5. Find

4800

the value of correlation coefficient.
gfz 2 wATEA TONE —0.9 Tl —0.5 B A HEHa
T[OTIe T AT Faesy |

PART - C/91T — ¥
Explain the difference between primary and secondary
data.

wrIfie 4 fedras aha § =R 9a3Ey |

Calculate mean, median and mode from the following
data: .

fre1 GRofl Y W1y, HEAdT T agd S DI |
(Size) ATHR (Frequency) 3l
(Lessthan 5)5 | &9 7
(Lessthan 10) 109 BH 20
(5-15)5—15 38
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{15andalm:-w:}15*'51"“"'“@'7"i >
20

(20-25)20-25

(25 and above) 25 3R aﬂ?ﬁ? °

(30 and above) 30 IR FXIP 1

Find Karl Pearson's correlation coefficient betwegy,

€
and playing habits of the students from the fc.llgwing.
|

data.

ry fod i W @ fAETRR BT 3T 3 ey o
e % Fie FIARE @ A W WEHE 0 ) oy
AR |

(Age in Years) : 1516 | 17|18 19 ?
. l:"
g T A

(Number ggstpdentf)i 250(200| 150120 100| 8
(Regular Player): 200(150( 90 | 48| 30| 12
Prafid e —

What is difference between Interpolation and
Extrapolation and also. Explain the various methods of

Interpolation.
TRV T TR § AT R 87 S
fafty= faferat @1 qvie ST |
OR / &orar
Calculate the value of Y for X = 4 from the following

data

ﬁrmamﬁﬁ#ﬁ#%mYﬂﬂﬂﬁwﬁW(‘C ”
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6
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x: 0 1
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2 5

Y. 2 3 12 147
Explain the followings:-

(i) Crude Death Rate

(ii) Specific Death Rate

(iii) ~Standardised Death Rate
ﬁ-l"-‘*f ?5"[ qHATR G —

() o T

(i) RREITIR

(iii) ¥ TG R
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